A//L// 1 of O/Mj
L

i

1 q

q___‘ _"‘

107t nroyr G201 =




CHI

<1
—

B4 Aue

AN O M2l E

A8 UELEL Hol 10002 I

o Ol 01Kl 2F

O
il

j

AtO

ngs =

O

O




II=I
I_I

ol8] Afof|A o

|-—I'
nuin
=

[|LE|-7W|-|’ |K|KI-!I|’ 'E:I)E-IIE(OC)', |§|K1'I|E(0C)|’ |§|]'I|E_(OC)|]
[1980-04-01", 108, '6.5', '3.2', "11.77]
['1980-04-02', '108', '6.5', 1.4, "12.97
['1980-04-03', 108, '"11.1", '4.1", '18.4']
[1980-04-04', '108', '15.5', '8.6', '21']

A 2 E| Lo 4G o OlLIct




ﬂ mpojo| |4
E

7
o = )H0A 2= UIOIEHE -0l M&Eot A etUhEH ot= UlA3
Of It e =2 M & ot OF L.

= VS SSD, 3= CJAE]



write()

b
pnes

open()

(] read0) =




“input.txt" L = | FEZ &
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>>> f = open("test.txt", "w")
>>> f.write(" 12 LA \n")
12

>>> f.close()
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>>> f = open("test.txt", "r")
>>> g = f.read()

>>> g
IFO[MIQ LB BELICE |\
LL ow -

>>> f.close()
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>>> f = open("test.txt", "r")
>>> s = f.read()
>>> g[:3]

lII|-O|M1|
L

>>> f.close()
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>>> f = open("test.txt", "a")
>>> f.write(""rIME LT AN")
12

>>> f.close()

>>> f = open("test.txt", "r")

>>> f.read()

'IFO[M{Q T2 BFLICE |\ (HFOIMIQ HHBELICE |
LL O 1 H . LL 2 .

>>> f.close()
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with open("test.txt", "w") as f:
fWFIte("nrolMﬂ_E 1L|-'I;6H|-L|E|--\nu)

# f.close()s 22°1™ W°r= &,




[ ||II|-O|M-|(_) 'I|-E:|B|-L|I:|- [}
LL O 1H .

I|II|-O|M-|C_> 'I|-'I:|6|-L|I:|- ]
LL L 2H .

||II|-O|M1IC:> I:||-|9_'I| ¢t||:i\lL|l:|- ] ]

v

f = open("test.txt", "r")
s = f.read()
s = s.rstrip(* \n’)

myList = s.split("\n")
print(myList)
f.close()
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import random

guesses ="
turns = 10

infile = open("words.txt", "r")
lines = infile.readlines()
word = random.choice(lines)

while turns > O:
failed =0
for char in word:
if char in guesses:

print(char, end="")

else:
print("_", end=""
failed += 1
if failed == 0:

print(u/\rgxr ngl)
break
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print("")
guess = input("°1E F5°H412: M)
guesses += guess
if guess not in word:

turns -= 1

print ("§%8")

print (str(turns)+ "2 L3I

if turns == 0:

print("*rg" " FEL2 "+word)

infile.close()
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gUS,USA 9629091, Washington,310232863 n
JP,Japan, 377835, Tokyo,127288000

CN.,China,9596960,Beijing, 1330044000
RU,Russia, 17100000 ,Moscow, 140702000

. s *I..E 5 100%  Windows (CRLF) UTF-8
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import csv

f = open(‘weather.csv') # CSV "L TGN ol MRLCEEE
data = csv.reader(f)
for row in data:
print(row)
f.close()

[|L£7W|-|, |7§|Ky, 'mloE-IIE(OC)', |§|7§1'I|(E)_(OC)|’ |§|]1|CE)(0C)|]
['1980-04-01', 108, '6.5', '3.2', "11.7']
['1980-04-02', 108, '6.5', '1.4', "12.97]
['1980-04-03', '108', '11.1", '4.1", "18.47]
['1980-04-04', 108, '15.5', '8.6', "21']
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weather.csv
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import csv

f = open('d://weather.csv')
data = csv.reader(f)
header = next(data)
temp = 1000
for row in data:

if temp > float(row[3]):

temp = float(row[3])

print(temp)
f.close()

-19.2
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o 201949 4 SN 2Ll HE R2HE Ol E I ME =
ages.csv I} 2 0| |
NS

) ages - HEE - O b
oHE(F) BTE MAO E7Vv) =82
AEHAY 20193042 A Fol==2019H042 A HE A7 F==2019H04E A 0~9M4,20193042 A _10~194[,2019H04E A 20~29M4,2019H04Z_H|_30~394,20195H042 ~
F= (0000000000),"51,836,763","51,836,763","4,252,921","5,068,750","6,815,660","7,198,993","8,438,563","8,658,999","6,070,217","3,524,973" "1,567,865","220,388","19,434"
MEEEA (1100000000),"9,766,886","9,766,886","680,098","843,949" "1,458,045","1,535,973","1,579,826","1,549,531","1,159,875","667,968","247 754" "37,855","6,012"
SAESE Al (2600000000),"3,431,750","3,431,750","248,549" "291,745" "441,953","447 924" "522 444" "590,864" "494,077","276,664","102,489","13,323" "1,718"
CHAZHGA| (2700000000),"2,454,154","2,454,154" "192,597" "245,182" "328,309" "313,937","399,715","431,461" "297 457" "166,821","69,727","8,298" 650
PIEZE A (2800000000),"2,956,700","2,956,700","248,107","288,855","409,266","429,231","492,213","516,940","323,497","166,561","70,374","10,797",859
229 Al (2900000000),"1,458,940","1,458,940","129,244","169,087" "206,651","197,954" "245,937","232,778" "147 936" ,"87 809" "36,134","5,032" 378
CHEZY A (3000000000),"1,485,509","1,485,509","126,303","157,801","213,885","205,895","246,611","244,338","162,156","85,768","37,208","5,2158",326
Z4tEFE Al (3100000000),"1,152,293","1,152,293","106,946","119,309","151,514","164,088","192,791","211,282","128,127","54,950","20,345","2,781",160
HEEZERAIA (3600000000),"324,417","324,417","45,618","37,984","34,845","59,706","60,619","39,997","25,344","12,826","6,444",979,55
#H7|= (4100000000),"13,129,508","13,129,508","1,200,597","1,373,979""1,754,439" "1,940,021","2,285,992","2,170,600","1,327,051" "718,326" "309,784" "44,976" "3, 743"
ZE = (4200000000),"1,540,794" "1,540,794","111,278","147,872" "181,271","173,485","231,350","271,670","212,545","136,287","64,455","9,832",749
=EHEL (4300000000),"1,599,488""1,599,488","132,016","157,987","200,429","203,465","246,165","273,262","198,738","118,363","60,461","8,056" 546
EHEYE (44000000000,"2,125,912","2,125,912","186,524","211,490","247 176" ,"285,662","329,783","340,549","252,582","164,559","94,159","12,616",812
HEtSE  (4500000000),"1,829,273","1,629,273","141,184","187,390","215,583","204,252","278,583","305,612","236,060","162,419","85,484","11,923",783
FEFEE (4600000000),"1,873,183","1,873,183","142,949","180,002","203,875","200,761","269,034","319,797","249,472","191,037","101,881","13,581",791
ZAEL  (4700000000),"2,670,375","2,670,375","204,935","241,542","296,155","315,047","395,784" "468,033","371,092","235,602","124,577","16,713",895
AMYE (4800000000),"3,368,933","3,368,933","292,679","341,522","390,403","434,824" "548,317","582,708","413,205","234,962","114,687","14,926",700
HFEERAIZ (5000000000),"668,648","668,648","63,297","73,054","61,858","86,768","113,399","109,577","71,003","44,051","21,902","3,482" 257

<
Windows (CRLF) Lm 1, Col 1 100%
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import csv
import matplotlib.pyplot as plt

f = open('d://ages.csV')
data = csv.reader(f)
header = next(data)

for row in data:
if "M253" in row[0]:
print(row)
f.close()

1251 (1100000000), '9,766,886', '9,766,886', '680,098', '843,949',
1,458,045, '1,535,973', '1,579,826', '1,549,531', '1,159,875', '667,968',
'247,754', '37,855', '6,012]
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>>> import 0s
>>> 0s.getcwd()
'D:\\test'

>>> 0s.getcwdb()
b'D:\\test'




>>> os.chdir('D:\\sources')
>>> print(os.getcwd())

D:\source
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>>> 0s.listdir()
['kr', 'PackageTest.java’l

>>> os.listdir('D:\\")
[SRECYCLE.BIN', .metadata’, '10.1.1.335.3398.pdf', ... ]

for filename in os.listdir() :
print(filename)
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import os

cwd = os.getcwd()
files = os.listdir()
for name in files :

if os.path.isfile(name) :

if name.endswith(".jpg") :

print(name)

DSC04886_11.jpg
DSC04886 12.jpg
DSC04886 13.jpg
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mkdir() Hl &~ EE AIZ 6}
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>>> 0s.mkdir('test’)
>>> 0s.listdir()
['kr', 'PackageTest.java’, 'test]
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rename() 0l 2~
clLt IF2 el 0
Ct.

-
IS = gt J] ?Ioll rename()

= LIFECIL IIZ 2 0l &=

all

>>> 0s.listdir()

['kr', 'PackageTest.java’, 'test]
>>> os.rename('test’,'test2')
>>> os.listdir()

['kr', 'PackageTest.java', 'test2']
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>>> 0s.listdir()

['kr', 'PackageTest.java', 'test2']
>>> os.remove('PackageTest.java')
>>> os.listdir()

['kr', 'test2']

>>> os.rmdir('test2')

[kr]
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ﬁ Lab: CIEIER! °F2l Tro] A2,

It S0 M "Python"sS Z&ot) = =0 ULH WA 0| St
e == =5t
file.py : if "Python" in e:

summary.txt : The joy of coding Python should be in seeing short
summary.txt : Python is executable pseudocode.




P sol:

import os
arr = os.listdir()

for f in arr:
infile = open(f, "r", encoding="utf-8")
for line in infile:
e = line.rstrip() # <
if "Python” in e:
print(f, ":", e)
infile.close()
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88 /40
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85 - 35
4+ 11
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import random
import os

os.mkdir("math_ex")

for i in range(100):
f = open(f"math_ex/ex{i}.txt", "w")
Ol 2 HE 2 HA HM=0tAK\n")
")

o
[ ]
S: 5 =0 \n\n

f
f.write("Ct
f.write("0|

for k in range(10):
x = random.randint(0, 100)
y = random.randint(0, 100)
op = random.choice("+-*/")
f.write(f"{x} {op} {y} = \n")
f.close()
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Ol & T (binary file)2 HIOIE It & HAE 0 Q= THAOICH =
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00110001 || 00110010 || @01l0011 || O0110100 || o0llelel || collolle

0|%I mel

00000000 || poooo00l || 11100010 || 01000000
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>>> infile = open(filename, "rb")
24 IIE0M 8HIOIEE 2P Lisdt &2 &S ArEetLt.

>>> pytesArray = infile.read(8)

e

B BIOIESE HUHY sl €2 8= AtEotdH =L

>>> pyte1 = bytesArray[0]

Ct.

rol

Ol & L0l BIOlE== M&EotAH L=t 20|
>>> outfile = open(filename, "wb")

>>> pytesArray = bytes([255, 128, 0, 1])

>>> outfile.write(bytesArray)
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infile = open("123.png", "rb")
outfile = open("kkk.png", "wb")

# s U2 0A 1024 BIOIEXN S1HMN =5
while True:
copy_buffer = infile.read(1024)
if not copy_buffer:
break
outfile.write(copy_buffer)

infile.close()
outfile.close()
print(filename1+"E " +filename2+"'E = Al

0
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CHURI0 HEE C0IESS pickle PSS 0125101 A T 0fl J|
=5t= OIHE STHEX.

import pickle

gameOption = {
"Sound": 8,
"VideoQuality": "HIGH",
"Money": 100000,
"WeaponList": ['gun", "missile", "knife" ]
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import pickle

gameOption = {
"Sound": 8,
"VideoQuality": "HIGH",
"Money": 100000,
"WeaponList": ["gun”, "missile", "knife" ]

}

file = open( "save.p", "wb" )  # °I ", 2F

pickle.dump( gameOption, file ) # FIMHRIE I3 IOl WAL

file.close() # "relg SLECr
Ry .. s e B

I ERERRY O FEERE) MANG) B0 ES2HD |

|OLtrg (X VideoQualityq rX! HIGHqgX| Moneyqld r X WeaponListqg’]

gl (XL gung—Xe missilegeX| knifeqleX| Soundg KQu.




a of|A|. CIML{2] HOj 6}
: 1L

Ol 0= Ol Y MU ME=E SAUCIE & E AL pickle 28 A
@)

| 24
load() &S S =otH W0l H&= ‘%'MHEIE =g =+ UL

import pickle

file = open( "save.p", "rb" ) # ° Tl 2]

obj = pickle.load( open( "save.p", "rb" ) ) # M3 POl EIMHEIE B
print(obj)

'HIGH', 'Sound": 8}

{'"WeaponList': ['gun’, 'missile’, 'knife'], 'Money': 100000, 'VideoQuality":
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Traceback (most recent call last):
File "<pyshell#1>", line 1, in <module>
z=xly
ZeroDivisionError: division by zero
>>>
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KeyboardInterrupt: At& XDt
(Control-CLt Delete)

EOFError: LH

]

importError: LIO| M 0| ==
ValueError: & 4O L LK

O 04 Yt AH

0



g Try-catch -2

N

ofl 2|7 E= XEICE,

ofjel7t o™

R e YX|=l= of2lE MESICE

except:

except:

except:




& Try-catch =%

LERE

try:
ol Q|7 gigt & U= &
except(2%):
O 21§ Ae|sl= & oilol7} Lralst 4

Rl= 28
Z =Xy

012l

except ZeroDivisionError:
print ("022 Li&+= ¢2")
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(x,y) =(2,0)

try:
z=xly

except ZeroDivisionError:
print ("0°% “r=g A=A

(0LE: '-r';'f 912l

(x,y) = (2,0)

try:
z=Xxly

except ZeroDivisionError as|e:
print (e)

division by zero
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>>>n = int(input("z™ 5 L2 "))
- MU N

ValueError: invalid literal for int() with base 10: '23.5'
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AMESXIE=AE e il LSItEMe = ALHE HE =AM &
== BOIOF &l =0l AHE A A=Z 2 &EotH L0t 20| 2F Ot
2 A4 SELE,
while True:
try:
n = Input(u/\xre O|E:|U|-A|o . ..)
n = int(n)
break

except ValueError:
print("xl'*\-'r O|-L|!IL|I:|-- CHA| ol!lajldl'/\l‘?._ n)
print("§* %1 2 gH=t)

-1 i

°IFetNe - 23 5
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try:

fname = input(""f°} °155 LA°rMI2: )
infile = open(fname, "r")
except IOError:
print(""L " + fname + "g "1 & UG

"l CIgg YLHI2: Kk py
1ol kkk.py° TR & e

2 2Lg




g try /execpt 55 1121 1P 23
N

i

<itry: _ try:
result = 10 / 20

result = 10 / 0

K NF e

except ZeroDivisionError:
prgt{" S S9H")

except ZeroDivisionError:
print(" FLH4")
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FE Z2|HA Al M (Julius Caesar, 100-44
L2l BHXE BWHDOA S [ CHE AFEE0]

. H
202 A Rot== 2AE3S UE A4S =2 X &orRiL

<If: the language of truth is simple.
°I2E: wkh odgjxdjh ri wuxwk Iv vipsoh.




Sol.

key = 'abcdefghijkimnopgrstuvwxyz'

# "{Bg Lot ojeeret ofene epsfoer
def encrypt(n, plaintext):
result ="
for | in plaintext.lower():
try:
i = (key.index(l) + n) % 26
result += keyli]
except ValueError:
result += 1

return result.lower()

f = open("test.txt", "r")
s = f.read()
s = s.rstrip()

encrypted = encrypt(3, s)
print ("It: "', s)

print (°}2E: ', encrypted)
f.close()

# 32 OIEHEICt
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